l.experiment

NH,, Doba inkubace

V1 [ml]

pH2

V2 [ml] m [g] t celkem (h)

Slunecnice 1 5.25 4.03 96 0.1225
Helianthus 2 5.25 4.36 95 0.127
3 5.25 3.81 94 0.1973
2.experiment
NO;. Doba inkubace
El[mV] [E2 [mV] c1 [mmol.I"] |c2 [mmol.I'"] [n1-n2 t celkem (h)

22

22
22
Slunecnice 1 220 225
Helianthus 2 220 222
3 220 221
Cas zaloZeni: 6:35 ¢as ukonceni kukurice: ¢as ukonceni slunecnice:
{ jedn.  Kalibrace
(mM) roztok KNC 0.075 0.15 0.3 0.6 0.9 1.2
mV 1.mereni
2.mereni 298 284 267 248 241 229
M 0.000075 0.00015 0.0003 0.0006 0.0009
hodnota x p(NO3) 4,125 3.824 3.523 3.222 3.046
hodnotay 298 284 267 248 241 229
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¢as ukonc¢eINOs. ¢as ukonce
t celkem (h)

10:56 10:50
10:58 10:52

11:00 10:54
10:42 5.23 4.38 92 0.1781 10:30
10:44 5.23 4.6 93 0.2381 10:35
10:46 5.23 4.38 94 0.1486 10:40

Vp
viiml] [v2[ml] |m[g] [umol. gt h™]

100 0.1781
100 0.2381
100 0.1486
1.5 1.8 2.1 2.4 2.7 3
mV
226 222 215 213 210 209
0.0012 0.0015 0.0018 0.0021 0.0024 0.0027 0.003
2.921 2.824 2.745 2.678 2.62 2.569 2.523
226 222 215 213 210 209
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